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KC6 Review — Finding Errors

e Analyze the student’s work for each question. If their work is correct, then write “correct”. If there
is an error or multiple errors, then use complete sentences to explain the error AND how it can be

corrected.
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1. Simplify the expression: cscx - tanx

<sc %x- tanx =

2. Solve for x on [0, 21): sin2x + sinx = 0

- Sin X + SiIn X = © ,
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3. Find the exact value of cos 75° ™

cos 75.:: (oS (L{S"—}BO.) = (CoS qg.(‘oS 30. + S"/ﬂ 4$ sin 30
z Tz 2

+

(

-
—-—

T, "
g ¥

4. Simplify the expression: (1 + secx)(1 — cosx

(1+séc x}(l—cos x) = (I+ S(CS'\SM X
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5. Given 44 = 64°,a = 16,b = 17, find the measure of 4B.
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7. Simplify: cosx (tanx + cotx -sinx) ' .
¢ Spex
(Enx CosX | o )

X
CosS X (Eanx FCOE X SINX) = CQS’XA oK .
= (on/?scnx 1)

:@,Si/nx + w@




34' ?V'l(\O{-QFéC"I_ ((—'/—-— g(ﬁm

= (oS ’*(g_\(og BC)\ — SN

U sin 30

{/ia f)\/ﬂ\&gcré’cm /ﬂ{émlﬁ‘)y cannet b

used in the smium‘?m
cosS x IS ~not oS X

g, o Yriangles Can
Co W\Li% Cou (

. Lan¢xX ~ Seczx fqua[s

So §oh(haﬂ

7 simplifacathon 2000 0VE
sign (with  coS X»

d also f’ggua/

) sincE

m-@ﬁaﬁV@ :L}

SV\&M(& be —Sin X

v +he p[(,c)”



